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SASHLES (NaOH)= CEHQl Ay S4=2 SIS A0f 2 o|&<IC}.
2.
H = -log[H"] = -log[6.0x107] = -log6 + 3 = 2.22
pOH = 14 - pH = 14-222 = 11.78
3.
283519 EYS =4H0| gict.
4,
2 DHEH
@ TDS : & & 1¥E
@ FSS : ZERR B NS
@ FDS : 4gs 22 1ds
5.
C = kP
~1.3%x10 *mol 20 _ 32g _ 1000mg
Cc= T X Latm X e =8.32mg/ L
6.
HUESIE = a/2dHs
120,000m>
,  120,000m7
d
S _ W A = 4000m?
m-day A(m?)
8719 2MZRZ RYUES2 4000/8 = 500m* 7} MR 1700 REBEHAHO0| Ec},
7.
O &3 (Fumigation Type) : &2 oY, st=22 S0HZsH ArEl
@ 2|2 (Lofting Type) : 4&2 20Y, o222 QHESGH AEf
® HZY(Coning Type) : CH7(2| AEfV} S& E&= DITHE HEY
@ T5H(Trapping Type) @ &5t 25F A (QHY)AEY
8.
Cio|=2AI2 AR0M RAMo2 F0f Cist 8= L S7|Q0| St
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1) EFRAHOAML =2
2% 154 0.5 % 25
Cn=""9305 _1TC
2) ERAHOME AAasE
o 2X102405x15
m 2+0.5
3) ¥FRAEOT70)0NMe MRS

9.7-8.46=1.24mg/L

= 8.46mg/L

12.

C3Hs + 50, — 3C0O; + 4H0
1:3=08m:X

X = 2.4Sm’

C4H10 + 650, — 4C0O; + 5H0
1:4=025m:X

X = 0.85m’

524+ 08 =325m’
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14,
EYZ7|22%"(Soil Vapor Extraction : In-Situ, S2|2t524 Hd) @ 223 S /0] ELS 23HEiZ o
=0 EL2M EYC2RE 22, F3Ud ®R7I2EE AAHS= 7I=0Ith. Y= H2|7(7H0] H1 2E=E
O] 3gdo| 2Rl 30| HE U HEIISSICE
15.
EY 33 U9 Asts =52 Darcy Yrlez d¥g 4 Qo
V Vo]%
M ESE
. Ah _ _hy—h
Vou = KI= K3 = K —7
K E2A14(m/sec)
| @ 2[BAE
Ah = h; - hy @ 52 #H3H(m)
AL =Ly - Ly o 2EYEO| 72|(m)
0.2m « 0.5m
d 20
Vg = —2 == 0.025m/day
= 0.2
16.
N +
SAR = L
Cya2+ +M92+
2
92mg _ 1megq
SAR = L 23mg —9
100mg = 1meq , 36.6mg 1megq
L 20myg L 12.2mg
2
17.
y&0| 1/COI QT2 2218 Uetch weasg st olat guse 1€ = —ro? ot
18.
Atz oZ olitele EoIzi0| ¥ SECt
19.
F7|(Period, T) : O SiI40] LT A|ZtOICH £Z2 BHetE £[E0| & ©f, 2 ES AlZhS 0|2= =2 o
Oryo| dMobst=d del= AlZte Zs5tH, ©ele Z(sec)Oltt
T=1/f
T = 1/200 = 0.005
20.
Fnde sig=a|l =Lt
AZH7|E 2FAA

@ FAG[HLHpH2.0 Ofsh), H&Z2((pH12.5 0|Y)]
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